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3- Ackerman Geometry

6- Simple Genetic Algorithms (SGA)

2- Yaw Rate
5- Direct Search

1- Lateral Velocity
4- Normalized

7- Elitist Genetic Algorithms (EGA) 8- Steady State 9- Transient
10- Population Size 11- Maximum Number of Generations

12 — Sharing Function
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IVehicle Data ¥ | Value ¥|Unit ¥
U 110 m/s

a 1.1 M

b 1.4 M

m 1000 Ke

1z 1650 kg.m2
tf 1.321 M

tr 1.321 M
Tyre Data ¥

C 60000 |N/rad
T -1200 |N.m/rad

Steering Data ¥

K 2500 N.m/rad
K 150000 |N.m/rad
C' 1500 N.m/rad/s
I 20 ke.m2
Tpinion 0.0068 |M
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